
This herd hasThis herd has
THREE rows of THREE rows of 

TWOTWO
T. rexes.T. rexes.

3  x 2 =  63 x 2 = 6
So you know So you know 

there are there are 
66 T. rexes in  T. rexes in 

total.total.

T.REX TIMES TABLES

This herd has This herd has 
THREE rows THREE rows 

of THREE of THREE 
Camarasaurus.Camarasaurus.

3  x 3 =  93 x 3 = 9
So you know So you know 
there are  there are  99  

Camarasaurus Camarasaurus 
 in total. in total.

This herd This herd 
has FOUR has FOUR 

rows of FIVE rows of FIVE 
Maiasaura.Maiasaura.

4 x 5 = 204 x 5 = 20
So you know So you know 
there are there are 2020  
Maiasaura in Maiasaura in 

total.total.
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Work out how many dinos are in each Work out how many dinos are in each 
herd using multipl ication!herd using multipl ication!


